1 Bapuant

1. CocraBbTe CyMMYy M Pa3HOCTh MHOTI'OYJIEHOB M IIpHUBe-
AUTEe UX K CTaHJApTHOMY BHAY:

1) a) Tx>-5x+3 u Tx?-5; B) a+3b u 3a—3b;

6) 3x+1 u —3x2-3x+1; r) a’—5ab-b% u a®+b?%
2) a) 2y>+8y—-11 u 3y* -6y +3;

6) 9a3—-a—-3 u 9a%+a-4;

B) 4m*+4m?-13 u 4m*—-4m?+13;

r) 2p®+3pq+8¢* n 6p®—pg—8q¢°.

2 BApUAHT

1. CocTaBbTe CYMMYy H Pa3HOCTh MHOT'OYJIEHOB M IIpHBE-
OUTe K CTAHAapTHOMY BHAY:

1) a) 3a®2+7a-5 u 3a2+1; B) x+6y u 3-6y;
6) 5a+3 u —2a°+a+7; r) x2—3xy+y? u x2—y?;

2) a) 5y2-3y—-1 u 8y?+2y-11;
6) 2a%+3a-2 u ba®-3a+2;
B) x3-3x+15 u x3+3x-15;
r) 8x2+2px—3p? u 2x2+ 3px - 3p2.



